
Math 1001 Section 1 (Margo) Assignment #10 Due Nov 20 at 6pm

1. Integrate (use method of partial fractions in necessary)

(a)
∫ x3

x2 − 1
dx (b)

∫ 10x + 9

2x2 + 5x− 3
dx (c)

∫ 1

x(x + 1)(2x + 3)
dx

(d)
∫ 3x2 − 2

(x + 2)3
dx (e)

∫ 1

(x− 1)2(x + 4)
dx (f)

∫ 2x2 + 3

x4 − 2x2 + 1
dx

(g)
∫ 2x + 3

x(x2 + 3)
dx (h)

∫ x2 − 2x− 1

(x− 1)2(x2 + 1)
dx (i)

∫ x3 − 2x2 + x + 1

x4 + 5x2 + 4
dx

(j)
∫ x2

(x2 + 9)2
dx (k)

∫ 12

x3 + 8
dx

2. Show that ∫ 1

x2 − a2
dx =

1

2a
ln

∣∣∣∣x− a

x + a

∣∣∣∣ + C

3. Evaluate

∫ 1

ex + 4
dx.


